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МЕТОДИЧЕСКИЕ УКАЗАНИЯ

1.  Данное контрольное задание имеет 5 вариантов. Студент должен выполнить один из этих вариантов в соответствии с последней цифрой своего шифра.

	Последняя цифра шифра студента
	Номер варианта задания

	                      1 и 2

                      3 и 4

                      5 и 6

                      7 и 8

                      9 и 10
	                1

                2

                3

                4

                5


2. Контрольное задание должно быть написано четко, аккуратно. Необходимо оставлять поля для замечаний и рекомендаций рецензента.

3. К зачету и экзамену допускаются студенты, выполнившие контрольное задание в соответствии с учебным графиком.

4. Для сдачи зачета или экзамена студент должен:


а) перевести текст;


б) ответить на вопросы по тексту;
в) соотнести термин с определением;

в) подобрать слово/словосочетание соответствующее подчеркнутому;
г) составить предложение из слов;

д) перевести сообщения диспетчера;

е) перевести с русского языка на английский информацию, рекомендацию и т.д.

Вариант 1

1. Переведите текст на русский язык:
Great progress has been made in ensuring the safety of civil aviation. Accident rates have steadily decreased throughout the history of flying and it is the safest form of transport (a cliché often repeated but, nevertheless, true). The continuing challenge is to make flying even safer. Any accident is a tragic event for those involved and their relatives. Images shown by the media have a very negative effect on the traveling public. As the number of flights increases, the number of airplane crashes appearing on the news will logically increase too, even if the very low rate of accidents remains constant. It is the opinion of most experts that there are gains in safety to be made from technological developments.
An example of an accident which could have been averted due to available technology was provided by the tragic mid-air collision of two airplanes over Uberlingen, southern Germany, in 2002. Both aircraft were equipped with TCAS (Traffic Collision Avoidance System). The system not only informed both pilots that there was an aircraft nearby but also issued avoidance instructions to both cockpits, telling one pilot to climb and the other to descend. The problem was that one pilot followed an instruction from the air traffic controller (who was distracted at the time) and unfortunately both aircraft descended at the same rate and collided.

Following this accident, a clear directive was issued to air crew worldwide that a TCAS instruction must always take priority over a conflicting instruction from ATC.  
2. Ответьте на вопросы по тексту:

1. How have accident rates changed throughout the history of flying?
2. What is an accident?

3. What accident could have been averted?

4. When did it happen?

5. What instrument were both aircraft equipped with?

6. How does the system operate?

7. Why did the accident happen?

3. Сопоставьте термин в левой колонке с определением в правой и переведите:
1. accident                        
a) the place you are traveling to                                              

2. incident          
           
b) a map used for planning and making a route
3. endurance                        
c) the line on a map that an aircraft follows
4. chart                             
d) an instrument that shows your direction 
5. destination

       
e) an event; a happening especially the one that is unusual
6. compass                              f) the longest time an aircraft can fly without stopping
7. track
        g) something unusual or damaging that happens unexpectedly
4. Выберите фразу, которая ближе всего по значению к подчеркнутым словам:
1. Watch out for the 757 which is approaching the intersection.

a) caution the 757



c) slow down

b) give way to the 757


d) expedite your taxiing

2. You ought to get your radio fixed.

a) you ought to have it secured

c) you ought to have it removed

b) you ought to have it repaired

d)you ought to have it changed

3. The new tow-bar doesn’t seem to fit.

a) it isn’t really needed


c) it’s bent
b) it’s broken




d) it isn’t the right size

4. We can taxi out under our own power.

a) we don’t need a tug

b) we are waiting for the catering truck
c) we require a tug

5. SAS 538 managed to take off on schedule.
a) departed on time



c) was a bit early
b) aborted his take-off


d) took off with reduced thrust

6. Which of these vehicles will remove snow from the tarmac.

a) a fuel tanker



c) a snowplough
b) a catering truck


d) a motor sweeper

7. Which word does not go with all the others?

a) the blast fences


c) the apron
b) a pier




d) a slot
5. Расставьте слова в правильном порядке:
1. if/ this/ don’t/ may/ make/expect/ slot/ you/ you/ of/ 
delay/ hour/ one/ a. 
2. the/ doesn’t/ bar/ seem/ new/ tow/ fit/ to.
3. D5/ from/ we/ stand/ stuck/ a/ meters/ are/ hundred.
4. than/ are/ operations/ planned/ taking/ loading/ longer.
5. be/ we/ able/ to/ slot/ make/ this/ won’t.
6. you/ that/ confirm/ you’ve/ plan/ our/ flight/ could/ got?
7. just/ passengers/ boarding/ be/ 10/ minutes/ my/ are/ I’ll/ ready/ in.
6. Переведите сообщение диспетчера:
1. The breaking action is poor and some ice has been reported by previous landing aircraft at the far end of the RW.
2. We had an emergency this morning, the RW had to be foamed and it’s being cleaned up at the moment, should be re-opened shortly.
3. Be informed, the red side-bars in the approach lighting are out of service, category2 landings are not available.
4. Delays are minimal on your route, a company aircraft going the same way just got a delay of 5 minutes or so, there’s likely to be a delay of ten or twenty minutes for you.
5. There seems to be an error in your flight plan, the departure time has been entered in local time instead of UTC.
6. Stop climb at FL 190 due converging traffic 10 o’clock 15 miles, one level above, maintain 190 until further advised.
7. Commence your descent to cross Charlie at FL 170 expedite through FL 210
7. Переведите на английский язык:
1. Не устраивает эшелон 80, можно нам эшелон пониже.
2. Прошу немедленный набор до эшелона 250. Мы идем на 15 минут позже расписания. 
3. Я не знаком с вашим аэропортом.
4. Не могли бы мы запустить двигатели раньше, у нас скаковые лошади на борту.
5. Не можем вылететь в 55. Задержка по бортпитанию, сообщу, когда буду готов.
6. Подход, 402 захватил курсовой радиомаяк. Каково состояние ВПП?
7. Мы хорошо видим аэродром и полосу. Просим указания для посадки.
Вариант 2

1. Переведите текст на русский язык:

Airports often emit high frequency sounds to frighten the birds away. Measures such as this can provide short-term solutions, but often the birds return. Constant vigilance is required on the part of airport personnel (those who carry out runway inspections in particular) and pilots who are airborne. They can alert controllers whenever they spot flocks of birds that may threaten other aircraft.
Aircraft manufactures also have an important role to play and they try to minimize the damage that birds might cause to the engines or other parts of the aircraft. The cockpit windshield, for example, on commercial airliner needs to be fully resistant to collisions with even the largest of birds.

While birds are the most significant hazard around runways, they are not the only one.
Objects or debris on the runway can be just as lethal as animal, aircraft or vehicle intrusions. In 2000, a small piece of titanium debris from a recently departed aircraft (about 50 cm long by 3 cm wide) on a runway at Paris Charles de Gaulle airport caused a tyre burst and engine fire of a departing Concorde, leading to the deaths of 104 people. The lessons of this accident have led to an increased frequency of runway inspections at many locations. 
2. Ответьте на вопросы по тексту:

1. Why do airports emit high frequency sounds?
2. What is the role of airport personnel and pilots?
3. What role do aircraft manufactures play?

4. What parts of aircraft can be damaged?

5. Why should the cockpit windshield be fully resistant?

6. What else on the runway can be dangerous?

7. What was the reason of the aircraft accident at Paris Charles de Gaulle airport?

3. Сопоставьте термин в левой колонке с определением в правой и переведите:

1. windshield  
a) structure made of wire that surrounds an airport for security
2. flock of birds

b) moving towards 
3. engine ingestion

c) a group of birds
4. debris
d) the remains of something, usually something large such as a building that has been broken to pieces or destroyed; ruins 
5. bird scarer
e) being sucked into the engine
6. inbound
f) something or someone that causes sudden fear, frightens
7. a perimeter fence
g) a piece of glass or transparent material across the front of a car, truck, etc.
4. Выберите фразу, которая ближе всего по значению к подчеркнутым словам:
1. Which of these vehicles will deliver passenger food to a departing aircraft?
a) a motor sweeper


c) a catering truck
b) a refueler



d) a luggage tug

2. The words crowded, squeeze, congestion all refer to:

a) mechanical problem


c) working conditions
b) weather conditions


d) the traffic situation on the apron

3. Which of these is another way of saying “disregard”?

a) to ignore



c) to despise
b) to deny



d) to question

4. If the ground staff are on strike it means that:

a) they are working hard

c) they are on holiday
b) they are not working


d) they are off sick

5. Before an aircraft can taxi out, the chocks will have to be
a) released



c) rejected
b) refuse




d) removed

6. Which of these situations will the fireman deal with?

a) an oil spillage



c) failure of a jetway
b) a snowbound taxiway


d) apron congestion

7. There may be frozen ruts along a grass strip when the temperature is
a) mild




c) warm
b) low




d) high
5. Расставьте слова в правильном порядке:
1. is/ be/ a/ there/ to/ 15 minutes/ for/ delay/ going/ start-up.
2. taxi/ maintenance/ the/ request/ to/ area/ taxiway 5/ via.
3. to/ unable/ we/ taxiing/ brakes/ are/ continue/ due/ unserviceable/ to
4. № 1/ we/ engine/ already/ shut/ have/ down.
5. need/ ambulance/ we/ for/ an/ a/ ill/ seriously/ passenger.
6. arrange/ can/ for/ you/ a/ to/ wheel chair/ meet/ on/ us/ the stand. 
7. a 747/ down/ is/ bogged/ there/ the/ near/ point/ of/ holding/ runway 28.
6. Переведите сообщение диспетчера:
1. Continue straight ahead, then second left on taxiway 3 to stand 14, report parking on stand.
2. Your shipment isn’t yet cleared by customs, advise when customs clearance complete.
3. Report parking on stand and don’t let the passengers off, the police want to search the plane.
4. Stop immediately, the Liarjet ahead of you is stuck on the taxiway due to hydraulic trouble. 
5. Please, expedite taxi, there’s a DC9 overtaking you.
6. The jetway to your stand is out of order at the moment, the passengers won’t be allowed to get on board until 11.30.
7. Taxi slowly, I’ll call you back with a stand, the apron is a bit crowded at the moment.
7. Переведите на английский язык:
1. В районе аэродрома огромные стаи птиц. Я попал в большую стаю на прямой.
2. Не можем увеличить скорость снижения, чтобы пройти Д на эшелоне 170.
3. 432 проходим Р, набираем через эшелон 210, рассчитываем W в 25.
4. Борт на 10 часов не вижу, прошу векторение.
5. Двигатель 1 засосал птицу. Объявляем бедствие. Планируем вернуться на ваш аэродром. Мы собираемся выполнить левый вираж, и мы намерены слить топливо до посадочного веса.
6. Кайт 63, мы попали в град, который длился 10 секунд. Ветровое стекло треснуло, у нас есть повреждения крыла и два человека серьезно травмированы. 
7. Мы направляемся в Римини. Как долго будет задержка? Мы почти готовы к вылету.
Вариант 3

1. Переведите текст на русский язык:

The worst civil aviation accident in history (in terms of the death toll incurred) took place in 1977 at Tenerife airport. While there were many factors which played a part in this accident, one of the most important ones was the decision of the KLM captain to take off before he had been cleared to do so. He was a highly experienced pilot and his actions that day seemed, on initial examination, incomprehensible. Experts suggested that he was fatigued, under stress and simply impatient to get airborne. In the years following the accident, greater emphasis during training was given to addressing the psychological factors that lie behind human error.

Training in human factors is now highly developed.  It is worth repeating once more that flying is by far the safest way to travel. Yet accidents do occur and even though they are extremely rare, the statistics are no comfort to the families of the victims, nor do they always reassure the traveling public. Aircraft reliability and available technology have reached such levels that it is almost always human error that is found to be the main contributing factor to an accident. Further improvements in safety are thus conditional upon eliminating as far as possible such mistakes. Yet experts in the field of human factors will stress that you cannot eliminate human error entirely and it is important for both pilots and controllers to recognize this and understand their own weaknesses.
2. Ответьте на вопросы по тексту:

1. When did the worst civil aviation accident take place?
2. What was the most important factor?

3. What is known about the captain?

4. What is worth repeating once more?

5. What levels have aircraft reliability and available technology reached?

6. What is found to be the main contributing factor to an accident?

7. Can human errors be eliminated entirely? 

3. Сопоставьте термин в левой колонке с определением в правой и переведите:

1. abort
a)  base of clouds when more than 50% of the sky is covered with clouds
2. a warning light
b)  when a moving part is accidentally fixed in one position
3. fuel dumping

c)  a sudden change of wind over a short vertical distance
4. backtrack
d)  to end before the expected time because of some trouble
5. ceiling


e)  a lamp to indicate a malfunction of some equipment 
6. jammed


f)  dropping fuel to reduce the total weight of the aircraft
7. windshear
g)  taxi along the runway in the opposite direction to traffic landing and take off                            

4. Выберите фразу, которая ближе всего по значению к подчеркнутым словам:
1. Engine number 1 is overheating
a) is becoming too hot

b) has flamed out

c) has stopped

d) is running rough

2. Squawk 4530 when airborne
a) still on the ground

b) after take-off

c) in cruise

d) on the apron

3. Nose gear collapsed
a) got bogged down

b) wouldn’t retract

c) was jammed

d) broke

4. Take-off aborted due to engine failure

a) high-rotation take-off

b) cancelled take-off

c) normal take-off

d) over-rotation take-off

5. Request the actual visibility

a) the measured visibility

b) good visibility

c) poor visibility

d) the estimated visibility

6. You are garbled
a) I read you loud and clear

b) I can’t read you

c) You are speaking too fast

d) You are speaking too loud

7. Nose gear collapsed at take-off run, we are operating the slides
a) escape chutes

b) high-lift devices

c) braking devices

d) stairs 

5. Расставьте слова в правильном порядке:

1. power/ very/ low/ on/ is/ engine 1.
2. coming/ due/ during/ are/ back/ tyre/ to/ we/ burst/ retraction/ gear.

3. by/ been/ we/ just/ struck/ have/ lightning.

4. to/ a/ for/ like/ pass/ visual/ low/ we’d/ make/ check.

5. a/ have/ may/ we/ new/ time/ approach/ expected?

6. another/ lining/ there/ at/ intersection/ traffic/ up/ is/ next.

7. cargo/ to/ the/ is/ be/ in/ delivered/ minutes/ few/ a.

6. Переведите сообщение диспетчера:
1. Please make your low pass on the right-hand side of 26 over the apron, then if you have to make an emergency landing, it’ll be runway 02.
2. You are cleared for take-off, wind 340˚ 8 knots, right turn after take-off, contact 121,0 when airborne.
3. GSV, can you increase rate of descent to cross Daventry at FL 100? Advise if able.
4. A 639, FL 260 is not available, alternate levels 240 and 280, advise.
5. GE recleared to Brock direct, climb to FL 260, expect further clearance after intercepting the 068 radial of the Luton VOR.
6. Caution, trenches being dug for cables just off the east side of the taxiway about 300 meters from the holding point, workmen and vehicles have instruction to hold short of the runway.
7. Taxi to Alpha 11, caution on approaching your stand, there’s no marshaller available due to ground staff strike. 
7. Переведите на английский язык:
1. Подтвердите, что наша стоянка Рара 20
2. Нам, возможно, придется отменить наш вылет, потому что грузовая дверь повреждена поддоном.
3. Мы не можем продолжить руление из-за неработающих тормозов.
4. Нам придется уйти на второй круг, у нас трудности с шасси.
5. Поворачиваем на курс 080, мы бы хотели выполнить пролет на малой высоте для визуального осмотра.

6. Прошу аэропортовую помощь , мы выкатились с полосы из-за лопнувшей покрышки, пассажиры будут оставаться на борту, пока вы не пришлете спасательные средства.
7. 784, на траверзе S в 35, эшелон 190, рассчитываем К в 48.
Вариант 4

1. Переведите текст на русский язык:
In May 1996, a DC-9 aircraft took off from Miami bound for Atlanta. Just six minutes after take-off, passengers informed flight attendants that they could smell smoke.

At the same time the pilots began to experience electrical problems and requested an emergency landing at the nearest airport. Almost immediately the cabin began to fill up with smoke. The cabin crew were unable to inform the pilot in the cockpit of the problem, without opening the cockpit door (the intercom was no longer functioning). This they did and the pilots themselves were soon affected by the toxic fumes. Unfortunately they lost control of the airplane which crash-landed, with no survivors.
Subsequent investigation showed that one of the airline’s subcontractors had illegally loaded expired but full oxygen generator canisters in the cargo hold without safety caps. One of these had ignited causing fire which quickly spread to the cabin. There was no fire detection system in the cargo hold and in any case no way to extinguish the fire. After this accident the FAA (Federal Aviation Agency) made the presence of detection equipment and fire bottles mandatory in all aircraft cargo holds. 

2. Ответьте на вопросы по тексту:

1. When did the case happen?
2. Where was the aircraft bound for?

3. What did the passengers notice six minutes after take-off?

4. Why did the pilots request an emergency landing?

5. Why did the pilots lose control of the plane?

6. Did the aircraft land safely?

7. What did subsequent investigation show? 
3. Сопоставьте термин в левой колонке с определением в правой и переведите:

1. emergency
a)  an object that fits over your face and is used for helping you to breathe normally
2. survivor


b) a foam-filled container that is used to put out the fire
3. oxygen mask
c) a steward or stewardess, a person who looks after passenger
4. fire extinguisher

d)  situation that requires immediate assistance

5. a flight attendant

e)  a person who remained alive in an accident 
6.escape chute
f)  a physical hurt or a wound especially when caused accidentally
7. injury
g)  a narrow sloping passage along which something may be passed or slide
4. Выберите фразу, которая ближе всего по значению к подчеркнутым словам:
1. We were flying in and out of cloud
a) sometimes in cloud and sometimes in clear sky

b) in solid clouds

c) below the clouds
d) on top of the clouds

2. We finally spotted the traffic

a) we avoided it

b) we saw it

c) we lost sight of it

d) we were below it

3. You are still catching up with the traffic ahead of you
a) you are overtaking it

b) you are below it

c) you are above it

d) you are reducing the distance between it and yourself

4. We are diverting to our alternate

a) we are proceeding to our original destination

b) we are returning to our departure airfield

c) we are proceeding to another destination

d) we request alternate levels

5. We’ve been instructed to call at Romeo
a) to land at Romeo

b) to call you back when passing Romeo

c) to overfly Romeo

d) to hold at Romeo

6. The controller says, “resume own navigation” 

a) radar vectoring id finished

b) radar vectoring hasn’t started yet

c) he wants the aircraft to reduce speed
d) he wants the pilot to omit next position report

7. An aircraft with no engine is called

a) a tanker

b) a frighter

c) a glider

d) a fighter  

5. Расставьте слова в правильном порядке:
1. to/ not/ FL 200/ 1200 ft/ per/ less/ descend/ than/ at/ minute.

2. before/ clearance/ the 068/ VOR/ further/ of/ radial/ expect/ the Oxford/ intercepting.

3. descent/ as/ your/ cross/ FL170/ to/ commence/ so/ Bath/ at.
4. due/ available/ FL220/ traffic/ your/ in/ opposite/ not/ 10 o’clock/ position.

5. present/ continue/ your/ further/ until/ climb/ at/ rate/ advised.

6. FL 220/ will/ roger/ for/ Romeo/ leaving/ FL 240/ report.

7. in/ there/ one o’clock/ traffic/ unknown/ is/ your/ position/ height.

6. Переведите сообщение диспетчера:
1. Be informed, traffic 10 o’clock 6 miles heading 150 Boeing-747 one level above, have you got him in sight?

2. Traffic restrictions in the Albany area have been extended until 13.30.

3. You are approaching a danger area, unable to give you a clearance to proceed direct, but you can cross at own discretion.

4. Emergency descent at Kent, all aircraft below FL 250 within 40 miles of KNT VOR, leave immediately this area to the north.

5. Air France 257, hold position, cancel take-off, I say again, cancel take-off, acknowledge.

6. Will you pull over well to the left at the holding point, to let an aircraft with an earlier slot time take off before you.

7. Report before crossing RW 25, there is a snowplough at work at the intersection.    

 7. Переведите на английский язык:

1. 887 готовы к вылету, но буксировочное водило сломалось. Наш вылет будет задержан на несколько минут.
2. Данэйр 600, буксировка закончена, прошу руление.
3. Приглушите огни, пожалуйста, они чуть ярковаты.
4. Влево 310, на каком мы удалении от точки касания?
5. У нас информация Делта, не могли бы вы подтвердить давление на аэродроме.

6. Срочное сообщение. Air France 435, у нас проблема, отказ двигателя номер 2, не в состоянии выдерживать текущий эшелон, прошу ниже. 
7. Нам только что пришлось перейти в набор, чтобы уйти от сходящегося борта. 
Вариант 5
1. Переведите текст на русский язык:
It is possible for a pilot to request a priority landing for problems which are relatively minor. When a pilot has to declare an emergency for a more serious problem then there clearly is a risk to safety. An aircraft on an emergency landing will always have priority over all other aircraft. The appropriate emergency services will also be alerted.

Failure to declare an emergency proved fatal for a Boeing 707 flight in January 1990. The aircraft had left Medellin, Columbia bound for JFK airport in New York. Due to traffic congestion the aircraft had to enter a series of holding patterns which added around 90 minutes to the estimated flight time. When the flight was finally cleared to land, the first attempt failed due to poor visibility. While going round to come in for a second attempt at landing the engines ran out of fuel completely, resulting in a crash-landing in a wooded area several kilometers short of the airport. About half of the passengers on board managed to survive.
The subsequent investigation showed that the flight crew had informed air traffic control that they were running short of fuel and said “we need priority”, but at no time did they use the words “fuel emergency”. For this the flight crew were criticized. But the controllers at JFK were also criticized for not having realized the gravity of the situation. Communication problems were also identified as a critical factor in this accident.    

2.  Ответьте на вопросы по тексту:
1. When does a pilot request a priority landing?

2. When and why did the Boeing 707 crash?

3. What was the route of flight?

4. Why did the aircraft have to enter a series of holding pattern?

5. For what reason did the first attempt to land fail?

6. What happened during a second attempt at landing?

7. Where did the aircraft land?
3. Сопоставьте термин в левой колонке с определением в правой и переведите:

1. priority landing
a)  the state of being very full or blocked because of traffic
2. belly landing
b)  a surge of power backwards from the engines which significantly slows the aircraft
3. holding pattern
c)  to complete a circuit around the airport
4. traffic congestion
d)  the area in which an aircraft await clearance to continue approach for landing
5. reverse thrust
e)  the right of an aircraft to land while others must wait
6. go around
f)  the process of reducing movement of a vehicle and bringing it to a stop by means of brakes
7. braking action
g)  an act of landing a plane on its undersurface without use of the landing gear
4. Выберите фразу, которая ближе всего по значению к подчеркнутым словам:

1. Which of these means transmitting?
a) receiving

b) broadcasting

c) forecasting

d) passing

2. The words diverging, converging, parallel, unreported all refer to:

a) speed instructions

b) traffic information

c) weather information

d) descent instructions

3.  Which of these is another way of saying fuel jettisoning?

a) refueling

b) fuel leak

c) fuel dumping

d) fuel flow

4. What will storm clouds or high ground generate on the radar scope?

a) crowd

b) squeeze

c) clutter

d) congestion

5. Which of these means that the computer is inoperative?

a) has failed

b) has been installed

c) has been delivered
d) is back in service

6. If the controller means that the weather is not expected to get better he will say
a) it is likely to improve



c) no improvement forecast
b) it is getting worse



d) its conditions are deteriorating

7. Which of these is nearest in meaning to boundary

a) limit

b) bank

c) obstacle

d) side

5. Расставьте слова в правильном порядке:
1. to/ emergency/ on/ immediately/ Newcastle/ diverting/ landing/ services/ request.

2. to/ proceed/ area/ order/ carry/ complete/ holding/ request/ in/ to/ check/ out.

3. longer/ hold/ we/ than/ minutes/ cannot/ five/ low/ we/ fuel/ are/ on.

4. to/ tug/ request/ us/ the/ tow/ a/ to/ apron.

5. have/ a/ we/ to/ wheel/ seem/ fire/ well.

6. the/ left/ take/ first/ turn/ taxiway/ onto/ Juliet/ convenient.

7. has/ crossed/ dog/ a/ just/ large/ the RW/ of/ ahead/ us. 

6. Переведите сообщение диспетчера:

1. NUM expect 1 minute delay due DC 9 passing behind to park.
2. SF 133, hold at the next intersection and give way to the aircraft coming from your left.

3. RST, runway 26, hold position, cancel take-off, I say again, cancel take-off.

4. Climb to FL 210, report reaching, continue present heading.

5. SF 153 unknown traffic, same direction overtaking you on the left.

6. Descend to FL 50, hold at MikeEchoLima, delay not determined, snow removal in progress.

7. Sunair 367, continue descent to 2000 ft, turn right heading 230, cleared for ILS approach runway 25, report established. 

7. Переведите на английский язык:

1. Срочно. Sunair 639, 35 миль северо-западнее Winton, эшелон 170, пассажир серьезно болен, подозреваем сердечный приступ, прошу приоритет на посадку. 
2. Sunair 367, разрешено на Winton по маршруту плана полета, схема вылета Golf 5, набирать сначала эшелон 110, смена эшелона на маршруте.
3. У нас кончается топливо. Вы знаете, как долго будет задержка?
4. Шасси вышло, но, возможно, не встало на замок. Мы намерены выполнить пролет на малой высоте возле вышки для визуального осмотра.
5. Sunair 799, передало «блиндом» (без ответа) из-за отказа приемника.
6. Sunair 312, прошу изменение курса на 10˚ вправо от линии пути, чтобы обойти грозовые облака.

7. Можно нам чуть пониже эшелон? Мы испытываем умеренную турбулентность на этом эшелоне.
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